
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

1, 409 × ________ = 1409 6, 831 × ________ = 68.31

10, 767 × ________ = 10767 6, 648 × ________ = 66.48

9, 378 × ________ = 9378 4, 884 × ________ = 48.84

6, 825 × ________ = 682.5 3, 052 × ________ = 305.2

2, 341 × ________ = 234.1 2, 72 × ________ = 2720

5, 725 × ________ = 572.5 4, 96 × ________ = 49.6

7, 032 × ________ = 703.2 10, 364 × ________ = 103.64

6, 782 × ________ = 678.2 8, 653 × ________ = 8653

9, 638 × ________ = 9638 7, 907 × ________ = 790.7

6, 547 × ________ = 654.7 5, 175 × ________ = 517.5
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

1, 409 × 1000 = 1409 6, 831 × 10 = 68.31

10, 767 × 1000 = 10767 6, 648 × 10 = 66.48

9, 378 × 1000 = 9378 4, 884 × 10 = 48.84

6, 825 × 100 = 682.5 3, 052 × 100 = 305.2

2, 341 × 100 = 234.1 2, 72 × 1000 = 2720

5, 725 × 100 = 572.5 4, 96 × 10 = 49.6

7, 032 × 100 = 703.2 10, 364 × 10 = 103.64

6, 782 × 100 = 678.2 8, 653 × 1000 = 8653

9, 638 × 1000 = 9638 7, 907 × 100 = 790.7

6, 547 × 100 = 654.7 5, 175 × 100 = 517.5
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